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[0 O The following is an example of comparative advantage[] suppose that Jand M are each self-sufficient. J
chooses to produce and consume 3 metres of cloth and 11 kilograms of corn a month. M chooses to produce and
consume 2 metres of cloth and 7 kilograms of corn a month. This means that M has to give up less corn to produce
one more metre of cloth than J does. Since M's opportunity cost of a metre of cloth is lower than J's, M has a
comparative advantage in cloth production.[] [0 According to Ricardo’s comparative advantage theory, not
necessarily every country has to produce all sorts of goods. What a nation should do is to concentrate its efforts and
resources on producing those goods which can generate more advantages and bring about less disadvanges; under
such conditions international trade would result in international division of labor and specialization beneficial to all
countries. lla addition,Ricardo particularly stressed labor productivity and argued that differences in labor
productivity between nations underlie the notion of comparative advantage. That is why comparative advantage
theory is more popular than Smith's absolute advantage theory.[ O O [
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